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Multiplying Decimals by Powers of 10

To multiply by 10, move To multiply by 100, move To mudlfiply by 1.000, move
the decimal point one - the decimal point two the decimal point three
place to the right. places to the right. places fo the right.

ou 040 0400
10x04 =4 100 x 0.4 =40 1,000 x 0.4 = 400

SN : S~ S

Find each product. Use mental math.

1. 10x006-= 100 x 0.06 = 1,000 x 0.06 = 10x06=

2. 10xH3= 100 xU4.3 = 1000 x Y43 = 043 x 100 =
3. O.(;SS x 1000 = 109 x 10 = 23 x10 = 10 x 0.007 =

4. 1000 x 0046 = QU6 %1000 = | OU6 x100 = QU6 x10 =

5. 1000 x39-= 0.0045 =10 = 100 x 0.03 = 12.6 % 1,0rOO =

6. 1234 x100 = 011 %1000 = ‘O.11 x 10,000 = 011 x 100,000 =
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Parentheses and Brackets in Expressions

Solve the problem within groupings first.
Example: 3 x (5 + 1)
i 3x9=27

Evaluate each expression. Look for your answer swimming in the sea of answers.

1 2xU-2) 2. (3+13) - (2 +8)
3. (452 - 4u8) x 6 4. (18-3)xb
5. 2% [5x (3 +7)] 6. 500 - [3 x (20 + 80)]
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